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RICKBEH (1) ——

> library(tidyverse)

> set.seed(38)

> sigma <- 0.25

> ca <- tibble( x=rnorm(50,1,sigma), y=rnorm(50,1,sigma), cl_t = “A”) #(1, 1) &fDIC
> cb <- tibble( x=rnorm(50,-1,sigma), y=rnorm(50,1,sigma), cl_t = “B”) # (-1, 1) ZDIC
> cc <- tibble( x=rnorm(50,-1,sigma), y=rnorm(50,-1,sigma), cl_t = “C”) # (-1, -1) ZADIC
> cd <- tibble( x=rnorm(50,1,sigma), y=rnorm(50,-1,sigma), cl_t = “D") #(1, -1) 2012

> t0 <-rbind(ca,cb,cc,cd) #4D0DIIN—T
> ggplot(t0,aes(x=x, y=y, color=cl_t) ) + geom_point()

> kO <-t0 %>% select(x , y) %>% kmeans(centers = 4) # k1%

> kO T
> t0 %< >% mutate(cl_k=factor(kO$cluster, label=c(“A”,“B”,“C”,“D"), levels=c(4,2,1,3) ) )

> t0 %>% select(cl_t,cl_k) %>% table()

# kF19iE
# kmeansG#RT—5 DELE, F.LDE)




RICLKBEH (2) —_—

> min <- -2

> max <- 2

> N_test <- 100

> int <- (max-min) / (N_test-1)

> X <- rep(seq(min,max,int), each=N_test) #rep I3#YJRL, each £ EZNZFN N_testf@]
>y <- rep(seq(min,max,int), N_test) # eachh' L MESICIE N_test BV R T

> test <- tibble(x=x, y=y)

> library(class)

> cl_test <- t0 %>% select(x,y) %>% knn(test, cl=t0$cl_t, k=5) # KEfEE
> ggplot(test,aes(x=x,y=y) )+ geom_point(aes(color=cl_test),size=0.5) # cl_test DBTERFR

# KiEfSiE
# knn(Gll#R 7 —5 DER, R T—5 DELR, A@T—5D SN, EEDE)
# R T —5 D BEFRSKEDERE ICHDINET—FDSNIVDZEHRATRDD
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RICLBEH (3) —_—

> library(rpart)

> rp_t <- rpart(data=t0, cl_t ~ x +y, method="class”) # PEEK

> library(rpart.plot)

> rpart.plot(rp_t)

> rp_test <- predict(rp_t, newdata=test, type="class”) # predict TFHl, type Tclass &#3&5E

> ggplot(test,aes(x=x,y=y)) + geom_point(aes(color=rp_test), size=0.5)

> library(nnet)

> t1 <- t0 %>% mutate(cl_t = as.factor(cl_t) ) #nnet TIIISANEEIDICIIAFICERE
> nn_t <- nnet(data=t1, cl_t ~ x+y, size=5)

> nn_test <- predict(nn_t, newdata=test, type="class”) # predict T¥ll, type Tclass &35E

> ggplot(test,aes(x=x,y=y)) +geom_point(aes(color=nn_test), size=0.5 )
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RICLBEH (3) —_—

> library(rpart)

> rp_t <- rpart(data=t0, cl_t ~ x +y, method="class”) # PEEK

> library(rpart.plot)

> rpart.plot(rp_t)

> rp_test <- predict(rp_t, newdata=test, type="class”) # predict TFHl, type Tclass &#3&5E

> ggplot(test,aes(x=x,y=y)) + geom_point(aes(color=rp_test), size=0.5)

> library(nnet)

> t1 <- t0 %>% mutate(cl_t = as.factor(cl_t) ) #nnet TIIISANEEIDICIIAFICERE
> nn_t <- nnet(data=t1, cl_t ~ x+y, size=5)

> nn_test <- predict(nn_t, newdata=test, type="class”) # predict T¥ll, type Tclass &35E

> ggplot(test,aes(x=x,y=y)) +geom_point(aes(color=nn_test), size=0.5 )
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